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Motivation : Previous model : f  = g t Af
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Solve for f from noisy g .
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Take care  of  it later .
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In the discrete case
,

J can be regarded as a multi - variable function depending on :
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By simplification :
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Gradient descent algorithm
Let f : IR
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Therefore
,

we have  an iterative scheme :
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How to minimise Jtf )

We consider the problem of finding f that minimizes Jtf )
.

In the discrete case
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In the discrete case
,
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( Gradient descent algorithm)

For the ROF model :
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Discretization of
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( Gradient descent algorithm for ROF )


